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PART A
3.

Directions : Given below is a short book review.
After the review you will find some items based on it.
Read the review carefully and answer the items
based on it.

In the book Strategic Leadership in the 215
Century, the author delivers an insightful guide to
contemporary principles of management. The book
seamlessly blends theoretical concepts with
real-world examples, providing a comprehensive
understanding of strategic leadership. The writer
navigates through the complexities of management,
emphasising the importance of adaptability in an
ever-evolving business landscape. The book not only
covers traditional management strategies but also
delves into the intricacies of ethical leadership and
the fostering of innovation.

The author’s writing style is engaging,
making complex concepts accessible to both
seasoned executives and emerging leaders. The
inclusion of case studies enhances the practicality
of the book, offering readers concrete instances to
apply in their own professional contexts. The
emphasis on cultivating a collaborative and
forward-thinking organizational culture sets this
book apart.

1. What is the primary focus of the book
Strategic Leadership in the 21 Century ?

(a) Historical management practices
(b)  Traditional leadership theories .
(¢) Current management principles

(d) Future business trends

2. How does the author make complex concepts
accessible ?

(a) Through extensive jargon
(b) By excluding real-world examples
(¢) Via an engaging writing style

(d) By signifying the importance of rigid
business landscape ’

PAMD-B-GAT {3k )

Which one among the following aspects of
management does the book cover ?

(a) Ethical leadership
(b) Hierarchical structures
(¢) Routine tasks

(d) Micromanagement

Why are case studies included in the book ?
(a) To provide a theoretical framework
(b) To provide tangible examples

(¢)  To highlight historical events

(d) - To promote theoretical discussions

Given below are two statements followed by
four options. Select the correct option from the
choices given below.

1. The emphasis on cultivating a
collaborative organisational culture sets
the book Strategic Leadership in the
215t Century apart in the realm of

management literature.

2. The book addresses the ever-evolving
business landscape, highlighting the
importance of being flexible and
responsive to change.

(a) Both Statement 1 and Statement 2 are

true, and Statement 2 is the correct

" ‘explanation of Statement 1

(b) Both Statement 1 and Statement 2 are
true, but Statement 2 is not the correct
explanation of Statement 1

(¢) Statement 1 is true, but Statement 2 is

false

(d) Statement 1 is false, but Statement 2 is

true




Directions : The following paragraph has some
numbered blanks. Below the passage four idioms or
phrases are given against each number. Select the
most appropriate idiom or phrase for the blank space
and indicate your response on the answer sheet

accordingly.

In the world of business, it is essential to be
ahead of the curve and not let opportunities
(6) . Being a successful entrepreneur
requires more than just a nine-to-five mindset; one
must be willing to (7) in the deep end to

achieve remarkable outcomes.

When faced with challenges, it is crucial to
avoid throwing in the towel. Instead, entrepreneurs
often are required to (8) , to come up with
innovative solutions. It is common for setbacks to
occur, but the ability to (9) and stay the
course separates the wheat from the chaff. In
negotiations, the ball is often in your court, and it is
essential to be careful and not to (10)

Keeping your cards close to your chest allows you to

maintain a position of strength.
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(3-A)

(a)

(b)

(e)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

spring a surprise
slip through your fingers
catch your breath

keep at bay

test the waters
jump through hoops
throw in the towel

dip your toes

hit the nail on the head
think outside the box
beat around the bush

pull the strings

throw in the towel
weather the storm
jump on the bandwagon

play it by ear

show your hand
play your cards right
keep your options open

keep a clean slate



Directions : Each item in this section has a sentence with three underlined parts labelled as (a), (b), (c).
Read each sentence to find out whether there is any error in any underlined part and indicate your response
on the answer sheet against the corresponding letter i.e. (a), (b), (c). If you find no error, your response
should be indicated as (d).

11. Consuming a variety of fruits and vegetables daily and ensuring a colourful diet

(a)

not only provides essential nutrients but also for supporting overall health. No error

(b) () (d)

12. The cat sat lazily on the windowsill purring contentedly as the rain poured outside. No error

(a) (b) (c) (d)

13. Sheila wanted to cook pasta but realised she has no penne in the kitchen. No error

(a) (b) (c) (d)

14. Al citizen are required to fill out their tax forms by April 15", No error

(a) (b) (c) (d)

15. The new policy effects all employees impacting their work schedules and benefits. No error

(a) (b) (c) (d)
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Directions : Imagine you are writing the following
notice. Answer the questions that follow, keeping in
mind the conventions of a formal notice :

You are the Secretary of XYZ Apartments in ABC
city. Draft a notice to inform residents about a water
maintenance activity scheduled for the upcoming
weekend holidays.

16. Select the option that lists the most accurate
opening for the notice.

(a) “Dear Residents, we are excited to share
news about our upcoming water
maintenance initiative.”

(b) “Hey everyone, just a quick update
about what’s happening in our
community this weekend.”

(¢) “This is to inform all the residents of
XYZ Apartments about a planned
activity.”

(d) “Greetings! As the Secretary of XYZ
Apartments, I bring you important
information about an upcoming event.”

17. Which of the following are the most relevant
pieces of information to be included in the
body of the notice ?

i History of the maintenance issue

2. Date and time of the water maintenance
activity

3. Instructions for residents during the
maintenance
Emergency contact details
Feedback form for residents
Details about the upcoming holiday
weekend

Select the correct answer using the codes

given below.

(@ 1,2and3

(b) 4,5and6

() 2,3and4

(d 1,5and6
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18.

19.

20.

A)

Would this notice reflect the name of the

Apartment Association ?

(a) Yes, because it is the issuing body.

(b) No, because it is understood through the
signature. ‘

(¢)  Yes, because it adds formality.

(d) No, because the title makes it clear.

Select the appropriate conclusion for this

notice.

(a)

“We appreciate your cooperation in

making our community a better place.”

(b) “Looking forward to your active
participation in this weekend’s event.”

(c)  “Apologies for any inconvenience caused,
and thank you for your cooperation.”

(d) “Hoping to see you all at the upcoming

holidays.”

Which one of the following is the most

appropriate signing-off protocol for the notice ?

(a) Yours faithfully

(b)  Yours sincerely

(¢) Yours truly

(d) No signing-off line is required



22.
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23.
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wel wift 7 ge 1 dey frdt afe % e
o wdFar ¥ B, @ 3 fFaw T & ofiw
IqesY HUAT AW ?

(a) g0y i wifta F 30 feT 3 ofiw
(b) 30y H ifeq & 30 = F X
(¢) 30y i wiftq % 48 i & fiw

(d) Iy it wifta & 48 ¥ b Hid

“Creft qreard une it 9= fafdr it srmerda
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(a) 9RA g9 s firdiy <g 9uiE (2012)

(b) WRd ¥H sW A f&g (2014)

© Frdw wmeg O W HEE gEel
YT (2012)

(d) WHgE T S e e

(2010)



PART -B

21. An information sought by Mr. Z was denied by
a Public Authority on the grounds that the 23.
information being sought is not a part of their
records and is not required to be maintained life and liberty of a person, the same shall be
under any law or the rules or regulations of

such Public Authority. Mr. Z files a petition to
mandate the Public Authority to -collect,
collate and provide such information. Mr. Z

Where the information sought concerns the

provided within :

(a) 30 days of the receipt of the request.

will :

(a) Not succeed as per the Judgment of the (b) 30 hours of the receipt of the request.
Supreme Court in Central Board of
Sy Sduestin - v. . Aditys (c) 48 days of the receipt of the request.

Bandopadhyay, (2011)

(b) Succeed as per the Judgment of the
Supreme Court in Central Board of (d) 48 hours of the receipt of the request.
Secondary  Education v. Aditya
Bandopadhyay, (2011)

(¢) Not succeed as per the Judgment of the
Supreme Court in  Chandigarh
University, Village Gharuan v. State of
Punjab, (2013)

(d) Succeed as per the Judgment of the
Supreme Court in  Chandigarh
University, Village Gharuan v. State of
Punjab, (2013)

24. “Information as to date of birth and
residential address of a passport holder
constitutes personal information wunder

Section 8 (1) (j) of the Right to Information

22. The Public Authority, to which an application Act. 2005” was held ih -
seeking information is made, shall transfer :
the application or such part of it as may be

appropriate, to the other Public Authority and (@) Union of India v. Girish Chandra

inform the applicant immediately about such Deshpande, (2012)
transfer under which of the following
circumstances ? (b)  Union of India v. Anita Singh, (2014)

1.  When the information sought is held by
such other Public Authority

2.  Where the subject matter is more closely (¢ Girish Ramchandra Deshpande v.
connected with the functions of the other
Public Authority Central Information Commissioner,
3.  Where the information sought cannot be (2012)
provided because of its confidentiality
Select the correct answer using the codes
given below : (d) Khanapuram Gandaiahv.
(a) 1only o X
(). ‘Benly Administrative Officer, (2010)
(¢) 1and2only
(d 1,2and3
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28.
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Which of the following statements regarding
the objective of the RTI Act, 2005 are correct ?
1 To set up a system and a mechanism

that facilitate people’s ease of access to
information.

2 <o promote transparency
accountability in governance.

and

3.  To minimise corruption and inefficiency
in public offices and ensure people’s
participation in  governance and
decision-making.

4. To operationalise the fundamental right
to information.

Select the correct answer using the codes
given below :

(a) 1,2 and 3 only
(b) 2,3 and 4 only
(¢0 1,2,3and4
(d) 1and4only

Which one of the following information about
the Right to Information Act, 2005, is not
correct ?

(a) No court shall entertain any suit,
application or other proceedings in
respect of any order made under this Act
and no such order shall be called in
question other than by way of an appeal
under this Act.

(b) No suit, prosecution or other legal
proceeding shall lie against any person
for anything which is in good faith done
or intended to be done under this Act or
any rule made thereunder.

(¢) Information pertaining to the allegations
of corruption and human rights
violations shall be excluded from
disclosure under Section 24 (1).

(d Record includes any document,
manuscript and file, microfilm,
microfiche and facsimile copy of a
document, any reproduction of image or
images embodied in such microfilm or
any other material produced by a
computer or any other device.

217.

28.

(9-A)

Which of

established by the Central Government, comes

the following organisations

under the ambit of the Right to Information
Act, 2005 ?

1. Narcotics Control Bureau
2: Directorate of Enforcement

3. Research and Analysis Wing of the

Cabinet Secretariat
4. Directorate of Revenue Intelligence

Select the correct answer from the codes given

below :

(a)  All of the above
(b) None of the above
(¢) 1and2only

(d 1,2and4only

Which of the following comes under the
definition of ‘Information’ under the Right to
Information Act, 2005 ?

1.  Records and circulars

2 E-mails, press releases and logbooks

3. Contracts, reports, samples and models
4

Data material held in any electronic

form

Select the correct answer using the codes
given below :

(a) None of the above

(b) 1,2 and 3 only

(¢) 2 and 3 only

(d 1,2,3and4
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29. If the legislation constituting a Public Sector
Undertaking does not allow access to a certain
piece of general information, what shall be the
procedure according to the Right to
Information Act, 2005 ?

1. Right to Information Act, 2005 will
override any such law

2. Right to Information Act, 2005 cannot
override such law

3.  Public Information Officer designated is
bound to provide such information
unless it falls under Section 8 of Right to
Information Act, 2005

4. Public Information Officer designated is
not bound to provide any information
relating to Public Sector undertaking

Select the correct answer using the codes

given below :

(a) 1lonly

(b) 2and3

(¢c) 1land3

(d 2and4

30. The salaries and allowances payable to, and
other terms and conditions of service, of the
Chief Information Commissioner are the same
as that of :

(a)  Judge of the Supreme Court of India
(b)  Attorney General of India
(¢) Comptroller and Auditor General of
India
(d) None of the above
PAMD-B-GAT
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Which one of the following concepts is related
to the process of generating a large pool of
qualified applicants ?

(a) Selection

(b) Placement

(¢c) Deployment

(d) Recruitment

Which one of the following tests measures the
level of extraversion/introversion, emotional
stability, agreeableness, conscientiousness,
and openness to experience of the applicants
for a particular job in which she or he will be
appointed ?

(a) Aptitude test

(b) Intelligence test

(¢) Attainment test

(d) Personality test

Which one of the following is an important tool
for keeping the selector’s attention on the list
of necessary qualifications and assisting in
determining  whether  candidates are
essentially qualified ?

(a) Job enlargement

(b)  Job enrichment

(c)  Job evaluation

(d) Job specification

Which one of the following is the process of
acquiring better skills for the current job of
the employees ?

(a) Training

(b) Development

(¢)  Motivation

(d) Leadership
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Enhancing jobs by giving employees more
opportunity to plan and control their work
makes the work more meaningful and it acts

as an intrinsic reward. This can be called :

Job enrichment

(a)

(b) Job description

(c)  Job specification

(d)

Job evaluation

A performance appraisal method that includes
mutual objective setting and evaluation based
on the attainment of the specific objectives is

known as :

(a)

Management by exception

(b)

Management by objectives
(c) Management by consciousness

(d)

Performance management system

The organisation denies unionised workers
access to their jobs during an impasse which
also protects their facilities and machinery
and other employees at the work site. This is

known as :
(a) Lockout
(b)  Strike

(¢)  Wildcat Strike
Economic Strike

(d)

38.

39.

40.

(13-A)

There is a lot of chatter about people
moonlighting in the tech industry. What is
moonlighting ?

(a) It refers to working in the night shift for

other time zone businesses

(b) It refers to working from home

(¢) It refers to the practice of working a
second job outside normal business

hours

(d)

It refers to working overtime in the

same job

A USA based company decides to establish a
remote HR team in India to handle payroll
and ‘benefits’ administration. What is this
practice called ?

(a)
(b)

Onshoring
Offshoring
(¢) Nearshoring

(d) Inshoring

You are an HR Manager in an organisation
and there is a case against an employee where
you have to terminate the services of the
employee based on the recommendation of the
committee which has followed all the steps as
prescribed under the rules and regulations.
You have made the exit smooth for that

employee. This will be called as a case of :
(a)
(b)

Substantive justice
Distributive justice
(¢)  Procedural justice

(d)

Racial justice



41.

42.

43.
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45.

46.

47.
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(14-A)
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TS Jod-FuRer (Psychological

pricing)

(d)



41. A no-questions-asked return policy offered to
consumers by many online retailers can be
termed as :

(a) Distributive fairness
(b) Procedural fairness
(c) Informational fairness
(d) Interactional fairness

42. Which one of the following pricing strategies
does Apple use for its iPhones ?
(a) Leader Pricing
(b)  Price Lining
(¢c) Market Penetration Pricing
(d) Price Skimming

43. If Levi’s wants to get potential customers to
stop buying jeans from Lee and Wrangler, it
would use which type of advertising ?

(a) Informative
(b) Reminder
(¢) Persuasive
(d) Pull

44. Standardised products and commodities such
as grains or chemical products are
characteristics of which competitive market
form ?

(a) Monopoly

(b)  Pure competition

(¢) Oligopoly

(d) Monopolistic competition
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45.

46.

47.

48.

(15-A)

Which one of the following taglines would you
associate with Bharti Airtel ?

(a) Express Yourself
(b)
(¢) Together We Can
(d)

Think Different

Connecting People

The method through which ideas for a new
product or service are generally gathered

using social media platforms is known as :
(a) Crowdfunding
(b) Crowdsourcing
(¢) Crowd effect
(d)

Crowd voting

What is the most common way to measure the

size and market potential of an economy ?
(a) Trade Surplus

(b)  Gross National Income

(¢)  Purchasing Power Parity

(d) Gross Domestic Product

Companies such as Canon or Epson offer main
products (printers) at low profit margins and
set high mark ups on supplies. Which pricing

tactics are these companies using ?
(a) Bundle pricing

(b)  Product-line pricing

(¢c) Captive-product pricing

(d) Psychological pricing
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49.

50.

51.
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>‘Jago Re’ campaign run by Tata Tea to

encourage people to exercise their voting

rights is an example of :

(a)

Societal marketing

(b)  Social marketing

(¢) Influencer marketing

(d)

Sustainable marketing

The products which have low immediate
appeal but are beneficial in the long-run for
the consumers, such as bicycle helmets, are

known as :

(a) Deficient products

(b) Desirable products

(¢c) Salutary products

(d) Pleasing products

Which of the following is not a fundamental
accounting assumption in the preparation of

financial statements ?
(a) Going concern
(b) Consistency
(¢)  Accrual

(d)

Matching concept

52.

53.

54.

(17-A)

The golden rule of current assets valuation —
‘Cost or Market price whichever is lower’ — is

based on the principle of :

(a) Conservatism

(b) Money measurement
(¢) Accrual

(d) Consistency

Overhauling expenses of ¥ 50,000 spent on
the engine of a motor car to get better fuel

efficiency is classified as :

(a)

Revenue expenditure

(b) Capital expenditure

(c) Prepaid revenue expenditure

(d)

Deferred revenue expenditure

Which one of the following statements in

relation to a Cash Book is not correct ?

(a) The Cash Book is both a subsidiary book

and a principal book.

(b)  All the columns of a three-column cash
book are balanced at the end of the

accounting period.

(¢) Contra entries do not require further

posting to the ledger accounts.

(d) The total of debit side is always greater
than the total of credit side of the cash
column but not necessarily for bank

column of the cash book.
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55. A credit purchase of machinery recorded in
purchases book instead of journal proper is
an:

(a) Error of partial omission

(b)  Error of commission

(¢)  Error of principle

(d) Error affecting the agreement of trial
balance

56. Which of the following is not a personal
account ?

(a) Rent outstanding
(b) Drawings

(¢c) Bank fixed deposit
(d) Bad debts recovered

57. The most important objective of financial

management is :

(a) Profit maximisation

(b) Wealth maximisation

(c) Attaining a higher growth rate

(d) Effective utilisation of funds
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58.

59.

60.

(19-A)

Which of the following ratios is not used to
measure the ability of the business to pay its

short-term liabilities ?

(a) Current ratio

(b)  Quick ratio

(c) Absolute liquidity ratio
(d) Debt-equity ratio

Which one of the following best defines the

cost of capital ?

(a)  The interest rate on long-term debt

(b)  The rate of return expected by suppliers
of funds to compensate for the
opportunity cost and risk of an
investment

(¢) The cost of issuing new equity shares

(d) The cost of short-term borrowings

Which one of the following statements about
Degree of Financial Leverage (DFL) is

correct ?

(a) It measures the impact of percentage
change in Earnings Per Share (EPS) to
the percentage change in Earnings

Before Interest and Taxes (EBIT).

(b) It measures the impact of percentage
change in Earnings Before Interest and
Taxes (EBIT) to the percentage change

in sales.

(c) It measures the impact of percentage
change in Earnings Per Share (EPS) to

the percentage change in sales.

(d) Itis also used as an indicator of business

risk.
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61. The Komagata Maru incident of 1914 was
about Indian immigration to :
(a) Canada
(b) Japan
(¢)  United States of America
(d) Fii
62. The Passive Resistance Association was
formed by Gandhiji to campaign against the :
(a) Certificates of Registration imposed
compulsorily on Indians in South Africa
(b) Tinkathia imposition on the peasants in
Champaran
(c) Increased taxation on Kheda peasants
(d) Oppressive measures against
Ahmedabad mill workers
63. The Rowlatt Bills were about :
(a) Imposing the requirement of compulsory
registration of Indian marriages
(b) Restricting the promotional
opportunities for Indians in
administrative services
(¢) Giving the Executive extensive powers
to arrest and detain persons without
trial
(d) Restructuring of the Indian education
system
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65.

66.

(21-A)

Consider the following statements about the
Non-Cooperation Movement of 1920 :

j B It included the surrender of titles and
honours.

2t Hand-spinning and weaving were to be
encouraged.

3. Untouchability was to be given up.

4, Panchayats were to be established for
settling disputes.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 and 4 only
(¢) 2and 3only
(d 1,2,3and4

Who among the following revolutionaries were
tried and hanged for the Kakori Case ?
(a) Bejoy Kumar Sinha, Shiv Verma, Jaidev

Kapur

(b) Bhagat Singh, Sukhdev, Bhagwati
Charan Vohra

(c) Jogesh  Chatterjea, Sachindranath

Sanyal, Chandrashekhar Azad

(d) Ashfaqulla Khan, Ramprasad Bismil,
Rajendra Nath Lahiri, Roshan Singh

Consider the following statements about the
Constitution of India :

15 Parliamentary democracy and social and
economic justice are some of its essential
principles.

2. It makes India a Republic.

3. It professes freedom of conscience.

4. It gives the right to choose a profession.

How many of the above statements is/are
correct ?

(a) One
(b) Two
(c) Three
(d) Four
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68.

69.

Who among the following was the first
Finance Minister of independent India ?

(a) Vallabhbhai Patel

(b) Jawaharlal Nehru

(¢) Shanmukham Chetty
(d) John Mathai

Who among the following groups were
appointed members of the . States
Reorganisation Commission in August 1953 ?

(a) Justice S.K. Dhar, Pattabhi
Sitaramayya and Sarojini Naidu

(b) Lal Bahadur Shastri, C. Subramaniam
and Purushottam Das Tandon

(¢c) Justice Fazl Ali, K.M. Panikkar and
Hridaynath Kunzru

(d) Ram Manohar Lohia, Professor Suniti
Kumar Chatterjee and Seth Govind Das

Consider the following statements about the
development of science and technology in
independent India :

1 The Atomic Energy Commission, with
Homi J. Bhabha as Chairman, was set
up in August 1948.

2. The nuclear reactor at Trombay,
Mumbai, is India’s largest nuclear power
station.

3. The Indian National Committee for
Space Research (INCOSPAR) was set up
in 1962.

4. The Satish Dhawan Space Centre is
situated in Thumba.

How many of the above statements is/are
correct ?

(@) One
(b) Two
(c) Three
(d) Four
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71.

(23-A)

Consider the following statements :

1. The Battle of Saraighat was fought
between the Mughal Empire and the
Ahom Kingdom.

2.  Lachit Borphukan Gold Medal is given
to the best cadet at the National Defence
Academy since 1999.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b).... 2 only

(¢) Both1land?2
(d) ’Neither lnor2 -

"Consider the following statements about the

National Child Labour Project scheme under

the Government of India :

1. Under this scheme, children in the age
group of ‘9 — 14 years are first withdrawn
from worl;; they are then given requisite
vocational training; they are finally

jobs by the

given  appropriate

" Government.

2. This scheme is applicable to the age
group of 5 — 8 years only.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Bothland2
(d Neither 1 nor 2
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73.

Which of the following statements is/are not

correct about “Unnati” ?

1. It is a technology platform to enable
livelihood access for the blue-collar and

white-collar workers in India.

2. It uses Artificial Intelligence to match

job providers with job seekers.

Select the answer using the codes given

below :
(a) 1only
(b) 2only

(c) Both1and2
(d) Neither 1 nor 2

Which one of the following statements about
‘WISE-KIRAN’ scheme of the Government of

India is correct ?

¢a)” It

pursuing higher education every year

selects 100 women researchers
through a three-tier selection process for

empowering women in rural areas.

(b) It is a select group of women volunteers
to raise consciousness among rural
women about government programmes

and schemes empowering women.

(¢) It is a flagship programme which

provides opportunities to women
scientists to pursue research careers in

Science and Technology.

(d) It is a flagship programme of women
empowerment in extremist affected
areas.
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75.

76.

(25-A)

Which one among the following statements
Institute  of  Rural

Development and Panchayati Raj is not

about National

correct ?

(a) It is an autonomous organisation under
the Ministry of Rural Development,

Government of India.
(b) Itis a UN-ESCAP Centre of Excellence.

(¢) It is a capacity building centre for the

rural functionaries.

(d) This institute is located in the State of
Andhra Pradesh.

Which of the following statements is not
correct about Human Development Index
(HDI) United

Development Programme ?

released by the Nations

1. HDI makes a rating of countries on a
scale of 0 to 1.

2. It measures relative, and not absolute

levels of human development.

Select the answer using the codes given

below :
(a) 1lonly
(b) 2only

(¢c) Both1and2
(d) Neither 1 nor 2

Who, amongst the following, coined the term
‘POSDCORB’ ?

(a) Mary Parker Follett
(b) Henri Fayol

(¢)  Gulick and Urwick
(d) Herbert A. Simon
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R 7 frafafed 4 @ $har/a9a s 98

2/8?

1. ¥9Rd &R GRS ®E %
Ffhertol % T o 2014 & 37t Yo
EAREN

2. YRd WHR 4 9N % YAS sars §
EMRS @ieH 1 fofy foram 2 |

(a) had 1

(b) e 2

(¢) 13 22Mi

@ JTAL,TH2

WRd ® SHar % faftes anfeeor ¥ e A

frfefaa & & F-ar/#9-8 a7 wd 2/8 2

1L 3 W & faw § wRd @R gm
Tl HRisH SR oy o # |

2. DISHA T% @9 ? S8 wra a&r g
= AT A & fore sy frar mn g

3. 9N @WHR 7wt 22 Igfua wrwed A
U h oA HaTee U9 yRw f
21

H= T T %e w1 @ = I g

(a) aet 1 3 2

(b) had 23N 3

(¢ 1,23R3

(d) had 1

79.

80.

(26-A)

UNDP 91 & JMEi & @ed #§, mfgemed
S i W oA % e ww sk,
wieenad & foeg qEivEl ¥ o9 % g S
WIS WHEE bl (GSNI) IR HTT 2 |
fefafad # & ®9-a1, 31 W) wgE smwm i
Wit 787 2 2

(a) Nférw mm

(b) 3Tff g

(c) TSI IR

(d) HiEHidH AW

JqH WAl Issaen AAT (PMUY) ¥ SR #
frafafad 3 & w1 wom wdt 777 2 2

(a) PMUY & 3idid, 79 qRari & g9
Afgest # BE O s fRu fan

LPG Ha9 39eTsY ST SITaT 8 |

(b) =¥ 2019 PMUY I %31 &1 778 oft |

PMUY & 3idid, US9/¥9 TSI-89GR
Tttt o1 1S arreies 7@ fema S R |

(c)

PMUY &1 3¢9 9 ¥ 09 qRarl =i
ASH YhM % iU @@= 9 Ieew

AT 2 |

(d)



77. Which of the following statements about
Eklavya Model Residential Schools (EMRS)
is/are correct ?

1. They were initiated by the Government
of India in 2014 to empower tribal
students.

2.  The Government of India has decided to
open EMRS in every Block of India.
Select the answer using the codes given

below :

(a) 1lonly

(b) 2 only

(¢0 Bothland2

(d) Neither 1 nor 2

78. Which of the following statements is/are
correct about the legal empowerment of the
masses in India ?

1. Tele-Law, Nyaya Bandhu and Nyaya
Mitra are key programmes initiated by
the Government of India towards this
endeavour.

2. DISHA is a scheme initiated by the
Government of India for making justice
accessible.

3.  The Government of India has launched a
Tele-Law mobile app available in all
22 scheduled languages.

Select the answer using the codes given

below :

(a) 1and2only

(b) 2and 3only

(¢) 1,2and3

(d 1lonly

PAMD-B-GAT

79.

80.

(27-A)

UNDP prepares Gender Social Norms Index
(GSNI) by quantifying biases against women,
capturing people’s attitudes on women’s role
along four key dimensions. Which of the
following is mot included in the four key

dimensions ?
(a) Educational dimension
(b) Economic dimension

(c) Political dimension

Cultural dimension

(d)

Which one of the following statements about
Pradhan Mantri Ujjwala Yojana (PMUY) is

not correct ?

(a) Under PMUY, a deposit-free LPG
connection is provided to adult women

from poor households.

(b) PMUY was launched in the year 2019.

(¢) No State/ UT wise allocation of funds is

done under PMUY.

(d) The objective of PMUY is to provide
clean cooking fuel to poor households

across the country.



81.

82.

83.
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Hifd (NITD) smi & sidfa s i fas
IFRAR?

(a) T I Y TR qH T

(b) @rE TG hl GErEhifa i Yk

(c) aTY I TUTEAT H GUR HEAT

(d) TTHOT STSATRY BT S

fafafea & @ $Fa, wra &1 vom &g
R fterg JomTedt (RRTS) iER 2 2

(a) feeett-misameTe-ie

(b) feeeh-aaTgUTe-Ueds

() feoeh-ariud-arfiua

d) feeeh-Tem -fardt-srerat

“ofeem @Er” % R # fefafga § & sRa

F TE 8 ?

(a) I8 T Nirg 3u=a 2, fyaeh forg Femfon
o %l FHHIS TERR & JEhd foha T
o |

(b) I8 ufTert 9o &, S THIIG: HE — 5 %
WEH H 200 — 250 km/h Y Ty & e
21

(c) & ufeadt 1 waM g Sl w

TYh TG TR AT |

TR A fdg Tme =wafm @ &

FYOT B |

(d)

85.

86.

87.

(28-A)

frfafiga & |, He1 (FIFA) wfen fwa %9 -
2023 % STTTRTRE JHHT HT 19 FT AT 2

(a) Tl

(b) STHH

OB SED
@ wrss

TSR g @ T TR, 2023 8 gem

fera T 2

(a) WEER 4G &t 3R .. Wy

b) fom wgdew 99 o wfdswasos
Thitg!

(c) dferd FAR iR frdlg fig

(d) Hrgme vt 3 ued =l

id & fafafea § @ fee wse | UNESCO
fsrufea e Jeash 1 g=h & ‘arfeea & Ty’
% &9 ° wmivret fomam man & 2

(a) TETfRR

(b) HifsHIS

() W™

d) AgE

‘v i Wit — 2028° % 99 Hewr % AR A

Frefafea & @ S-a1 wuw wd 7377 2 2

(a) € 9RA IR FFARY & I Ggw 4=
HAE 2 |

(b) Ig 3y (Yo) # genfera foran o om |

() 39 IFUE H IW HIH U I %
ferdy % arefiv 2 |

d) 38 I9E § Aahare-Udt FfRE %
QA T Sfafshar snfirea 2 |
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The Shoonya Campaign under NITI Aayog is

about :

(a) Reducing poverty to zero level
(b) Curbing inflation of food items
(¢) Improving air quality

(d) Reducing rural unemployment

Which one of the following is India’s first

Regional Rapid Transit System (RRTS)

corridor ?

(a) Delhi-Ghaziabad-Meerut
(b) Delhi-Bahadurgarh-Rohtak
(¢) Delhi-Sonipat-Panipat

(d) Delhi-Gurugram-Rewari-Alwar

Which one among the following statements is

correct about “Paschim Lehar” ?

(a) It is a famous novel, for which Nilamani
Phukan was awarded with Jnanpith

Award.

(b) It is a westerly wind which generally
blows in the month of May — June with a

speed of 200 — 250 km/h.

(0 It was a joint maritime exercise

conducted by the Western Naval

Command.

(d) It is a Hindi rendition of a movie called

Westerly Wind.

85.

86.

87.

(29-A)

Which one among the following was the name
of the official Mascot of the FIFA Women’s
World Cup - 2023 ?

(a) Tazuni
(b) Zakumi
(¢) Fuleco

(d) La’eeb

Major Dhyan Chand Khel Ratna Award, 2023
was given to :

(a) Mahaveer Prasad Saini and R.B. Ramesh

(b) Chirag Chandrashekhar Shetty and
Satwiksairaj Rankireddy

(¢) Lalit Kumar and Shivendra Singh

(d) Mohammed Shami
Chaudhary

and Parul

Which one of the following cities of India has
been included as the ‘City of Literature’ in the
List of UNESCO Creative Cities Network ?

(a) Gwalior
(b) Kozhikode
(¢) Ladakh
(d) Mysuru

Which one of the following statements about
the 9 edition of ‘Exercise MITRA SHAKTI —
2023’ is not correct ?

(a) It is a joint military exercise between
India and Bangladesh.

(b) It was conducted in Aundh (Pune).

(¢) The aim of this exercise is mandated
under the United Nations Charter.

(d) The exercise includes joint responses

during counter-terrorist operations.



88. ImE.H.#. (IcC) grn F=faRaa Brpedt o @

89.

90.
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1. WA dgee
2. ditg "gam
3. o ks
4. A FA
= feu T e H T g s R
(a) had 13 2
(b) ad 1,231 3
. (@ 1,233 4
(d) Had 33 4

fhre oE. W, Bl 1% %9 § wiftre fen
™R ?

a9 2023 # Fefem w3 g i =i
TYH T H T el JEhR fhed deftrd § 2
() mRNA T FYGOT

(b) RNA Feifereamemen

(c) mRNA-LNP Srenfifeat

@ fogw afuf= & sfidm

fafafed & & wH-a1, 9 1 waeg oA
FH & fou enfem-L1 fism grr s&a feam men
ERICR i

(a) fafSmer ofimm ATET SRR (VELC)
(b) TR A TASH THEX eIt (SoLEXS)
(c) ¥ T L1 IAfefen weml @egmie

(HEL10S)

(d RAMBHA-GT=R W&

91.

92.

(30-A)

TH @ § UHAE Guifea gitomm Sl o gR
2 | faadl A, B, ¢ 3k D % ar & f=faRea
e W foar Afe : afe A, B 9 & 2, 9«
A, C! 80 <d1 8 | A D, B! &l 8, @ B,
A & TE 9 | AR ¢, A gar 8, 9
frfefaa & @ SH-a1/sH-38 98 2/2 2

I.  B,D% &8

II. B, AW &2

III. A, D% &0 &

= f3T MU e w1 3T W I YR

(a) had IR II

(b) ohad I3 III

(¢) had II 3R III

(d 1,113 I

P,Q3ﬁ1’ RﬁTFcﬁ'I?EF?ﬁﬂQ' (Common Nouns)
S1. Yo% R, Th PR, 98 Th QB
S2. Y% R, TH QR

S3. W% R Uk PRI R, 98 Th QR
I. S2% ANE S18

II.  S2 0 379 S32

1. S1 3R S3 7 3 S2 ]

I9YH A A B TR E 2

(a) had IR I

(b) et IT 3R III

(¢) haet IR III

(d 1,113 III



88. Who amongst the following cricketers have
4 been inducted by the ICC in the ICC Hall of
Fame ?
1. Sachin Tendulkar
2.  Virender Sehwag
3.  Vinoo Mankad
4. Anil Kumble
Select the correct answer using the codes
given below :
(a) 1and2only
(b) 1,2 and 3only
() 1,2,3and4
(d) 3and4only
89. The Nobel Prize shared by Katalin Kariké and
Drew Weissman in 2023 is related to the :
(a) Modification of mRNA
(b) RNA therapeutics
(¢) mRNA-LNP technologies
(d) Genomes of extinct Hominins
90. Which one of the following is not a payload
carried by the Aditya-L1 mission to carry out
systematic study of the Sun ?
(a) Visible Emission Line Coronagraph
(VELC)
(b) Solar Low Energy X-ray Spectrometer
(SoLEXS)
(¢) High Energy L1 Orbiting X-ray
Spectrometer (HEL10S)
(d) RAMBHA-Langmuir Probe
PAMD-B-GAT

91.

92.

(31-A)

In a game the only possible outcomes are win
and loss. Consider the following facts about
players A, B, C and D : If A defeats B, then A
defeats C. If D defeats B, then B cannot defeat
A. If C defeats A, then which of the following

is/are correct ?

I B defeats D
II. Bdefeats A
ITI. A defeats D

Select the answer using the codes given

below :

(a) TIandIIonly
(b) Iand III only
(¢) II and III only
(d L IIandIII

P, Q and R are common nouns such that we

have the following :

S1. Every RwhichisaPisaQ
S2. EveryRisaQ

S3. Every RwhichisnotaPisaQ
Consider the following implications :
I S2 implies S1

II. S2implies S3

III. S1 and S3 imply S2

Which of the above are correct ?

(a) IandIIonly

(b) II and III only

(¢) IandIIIonly

(d I,IIandIII



93.

94.

95.

96.
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T2,T53NT 7% $ §H & | I MM N
T H UAH H U T 97H FUA &, al MIT N
% U IUY FHUHEI hl TEAT H o FaT H
AThaH A T B ?

(a) 31

(b) 32

() 33

(d 34

T Ut i T A Q1 Ter-3Tem (M, A 3R
BT T E | I AGen 2 3R BEG 7, @ ¢t
it g8 TH ik 24 W § wieft & arht B | A
B el 8 AR AW 3, @ ¢ Wl g ThH I
169 # @reft & 9t 2 | Al A 3R B Hl g
g, a1 it Wl & o @il g9 § fha W
o 2

(a) * 10:2

(b) 96

() 87

(d) =79

THh ANATHR @d I FEE 40 m A =S
30m? | WA % IR HEI H M T G W
IR M H F TS P 10 m s T G "
T g | UrEdl T @ #gE % o9 § @ T

e F A IE R | 3@ T % fow =l
ferehan @eTg fohaft Bt =nfen foed 6 saep
T BT &, AT TRk W % &9 ° 77T AU
3 I8 @a § wre oft 78 51 g 2

(a) 20m

(b) 15m

(¢) 25m

(d 17m

o dieft feem ¥ 300 m =erdt 8, 39+ 91 «d
gedt ¥ off feun sea form fi & & gt o
Tl B; IHh W1q I8 T 9IC Aot @ 3R 9
700 m T ToAdl & 3 & At & | T 3 F&f

& ywora A ofl, F@ ¥ SwH adw R B
@, m ﬁ, ferat % 2

(a) 600

(b) 580

(c) 520

(d) 500

(2P

97.

98.

100.

A)

X AT Tsh Y1 3 W18 § 99k &l Sl 8 iK%
T HIE TS 995k I Th el X da1 e
MY W ¢d 7, Fod wh | 3R & " R |
Ife ggeft 9N, FI%h X Jre i, s wh A1
T Yo wE S gwEEr 8, Tt fafeamer §
W1 a1 B, 9 B8 "iE "¢ fufearw § X &
Sferehan T = gt 2

(a )12

(b) 14

(¢). /18

(d 20

foret Tesh W, YEA =N W o, T 3 &
2fheh firmer & & w3 el 10 Ahe a6 @
2 | 9% WEN, J§ GE-HE (i) g9
IR % 91¢ 5 Yehe a% ¢ ST & | AR B
3R =N R, AT * € e 8 o R & S
%,a‘féﬁ?ﬁgﬂmgis‘rﬁv

(a) 8:05W

(b) 8:06T

(c) 8:04W

(d) 8:07

IdaM #, F ol 3g E 9y ¥ 9" T R,
3R 4 99 & 9¥=Tq, F 6t Y E I g & =1
T & @R | E % 99 % T F o 7y (ast
o) oft 2

(a)
(b)
(c)
(d) 48

T gufd <l 3 HAW &, TH 7 3R TH T |
RER &% At IR S F WR HT AT 130 kg
?, INGR % Y6y TEE % WR 1 AT 75 kg &
3R Sl 1 Th WY WK 20 kg & | A 3N G
% R & o9 i@, e ¥, fopan 2 2

(a) 25

(b) 30

(e 35

(d 40



93.

95.
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There are some coupons of ¥ 2, T 5 and T 7.
If M and N have coupons of T 97 each, what is
the maximum value of the difference between
the number of coupons that M and N have ?
(a 31

(b) 32

() 33

d 34

There is a water tank fitted with two different
outlets, A and B. If A is on and B is off, the
tank gets drained out in exactly 24 hours from
its fully filled state. If B is on and A is off, it
gets drained out in exactly 16 hours from its
fully filled state. If A and B are both on, how
many hours will it take to completely drain
out the tank from its fully filled state ?

(a) 102

(b) 96

(¢) 87

d 79

A rectangular field is 40 m long and 30 m
wide. Four cows are tethered to poles placed at
the four corners of the field, each with a rope
of 10 m length. A fifth cow is to be tethered to
a pole placed at the centre of the field. What
should be the maximum length of the rope for
this cow so that its grazing area does not
clash with that of the remaining cows, and
also it cannot go out of the field ?

(a) 20m
(b) 15m
(© 25m
d 17m

Reena walks 300 m straight, then turns left
and again walks an equal distance without
changing direction; then she again turns left
and walks 700 m straight and stops. What is
the distance of Reena’s present position, in m,
from where she started ?

(a) 600
(b) 580
() 520
(d 500

97.

98.

100.

(33-A)

A species called X becomes adult in 3 months
and every month every adult couple starts
reproducing a pair of X, one male and one
female. For the first time, if an adult couple of
X which is expected to reproduce in a month,
is kept in a zoo, what is the maximum
population of X in the zoo after six months ?
(a 12

(b) 14

(¢) 18

(d 20

On a road, each of the red, orange and green
traffic signals on the first crossing lasts for
10 seconds. Thereafter, the timing increases
by 5 seconds after each crossing. If the signals
of the first and the fourth crossing both
become green at 8 o’clock, when will they both
appear green again ?

(a) At8:05

(b) At 8:06

(c) At8:04

(d) At8:07

Presently, the age of F is five times the age of
E and after 4 years, the age of F will be four
times the age of E. What was the age of F (in
years) when E was born ?

(a) 60

(b) 58

(¢). . .88

(d 48

A couple has two children, a son and a
daughter. The sum of the weights of all four
members of the family is 130 kg, the sum of
the weights of the male members of the family
is 75 kg and the weight of the children
together is 20 kg. What is the difference
between the weights of the mother and the
son, in kilograms ?

(a) 25

(b) 30

() 35

(d 40



102.
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gt 1 # g 0 F ay ghfea i sk
gt % = G T g T W gl W
g
g1 II
(FR) (379IR % fe7g 577,
A. THFETEHT 1. gia faehrem 3R o
&M % fag
B. EHle 2. giauea o=, gited,
&a-fas, omfe
C. HeH SIS 3. gah I (TS hi
gerdt)
D. BAfEH YAG 4. 33 6 wiew Faferean
%<
A B C D
(a) 3 1 2 4
® 3 2 1 4
© 4 1 2 3
@ 4 2 1 3

YR & YW =g fimH, wgam-1 % fau

frafefga § @ fraa == ot & 2

1. 39 22 3SR, 2008 I ST foham m |

2. ¥ §dW uad faRa &g, el §
gaifua feram |

3. 39 AN I 7 TgHT hl Ta8 ¥ 100 km
& S8 W =gHT I i i |

. I% O AT IUHT o T AT |

5. 39 IWE 4 WgHT & UM AR 3400 ¥
e afepumd &7 |

6. 2218, 2019 ! W AN IH ¥ HUh
e W 39 e 1 wuTed e fean e

= feu Tu e @1 T =W wd I ghe

(a) @t

(b) =R

(¢) @

@ @

103.

104.

105.

(34-A)

frafafgs & @ gdvem Iefe wem SR
off 2

(a) SATESH @S
(b) AT T TYAOT
ESEHEICIRCIE
(d) Il h TEd FReft A TfasHR

(c)

<5 URMT (Lunar nights) % S SgAT ) ¥dg
T AT 3R U’ IUHWN ! Tl FSAT JaH
F % e Fot f v H gfd gm:
forg wream @ it Il B 2

(a) S AT

(b) AT IgeHTor

(c) esaremsEie yered

(d) Sfamey ggm

ffafga fowmpett (aswi) & @ feas fog
gayem b (AFE) H1 rfeswr foRm mn

a1 ?
(a) S
(b) J&HT
(c)

(d)



101. Match List I with List II and select the correct
answer using the code given below the Lists :
List I List IT
(Laser) (Treatment used for)
A. Excimer 1. Dental and hair
removal
B. Diode 2. Skin damage,
wrinkle, scars, etc.
C. Carbon dioxide 3. Kidney Stone
D. Holmium YAG 4. Eye surgery
Code :
A B C D
@) 3 1 2 4
b)) 3 2 1 4
(0 4 1 2 3
d 4 2 1 3
102. How many of the following statements are
correct for India’s first lunar mission,
Chandrayaan-1 ?
I It was launched on October 22, 2008.
2 It was launched from the Satish
Dhawan Space Centre, Sriharikota.
3. The spacecraft orbited the moon at a
height of 100 km from the lunar surface.
4, It carried six scientific instruments.
The satellite made more than 3400
orbits around the moon.
6. The mission was concluded when
communication with the spacecraft was
lost on July 22, 2019.
Select the correct answer using the codes
given below :
(a) Al
(b) Four
(¢) Three
(d Two
PAMD-B-GAT

103.

104.

105.

(35-A)

Which among the following was the earliest

scientific event ?

(a) The discovery of Oxygen

(b) The synthesis of Urea

(¢) The discovery of the Electron

(d) The invention of the Periodic Table of
Elements

The energy requirement for providing the

necessary heat to the ‘Lander’ and ‘Rover’
equipment on the lunar surface during lunar

nights are usually met through :

(a) Joule heating

(b) Thermal devices

(¢) Radioisotope materials

(d) Fossil fuel

Vaccine against which one of the following

viruses was invented first ?

(a) Rabies

(b)  Tuberculosis
(¢) Measles

(d) Smallpox



106.

107.

108.
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frfafes & & FH-91 99 IET 1 gaaw
&9 ¥ gftfld a8 2

(a) ¥8 wEA Afen § Fffa o g &
98 I e fohg e dga et arf
AT Bt 7 |

Ig Hraa gmpst @ fffa fg-emmh verd
2 | 389 IF yEoA, N I= dgd IR
At =T gt 8

Ig Hreq qoged & faffa T werd R
T8 3= Yeerar g e dga i ard
Jrerehar gt 7 |

Tz Heq At 7 Fffa fg-smarndt e
2 | 39 I Yeeldl, 3= dgd Aokl
forg frr ardfi <erhan Bt 2

(b)

(c)

(d)

FA1-9ceR fored saT 8 2

(a) SiaTeHivd ureq

(b) T&H foemm T

Sfarerisd Sa-gared

HRA IR HieTehT & Sarediyd Ia

(c)
(d

srdfares (Yfiedn) fow & fmin % for
fafafes & @ wRH@ sdues qmmlt w0
HE&Id: 39T foharm Siram B 2

(a) ST

(b) Herm mETse

faforepta

@ Hferm TEEe

(c)

109. TH IIYAMT I HHIG: TEISA § T ST

110.

111.

(36-A)

R | ST HROT FAR 2

(a) W@ # o o &+ gar @
SYeTSY AT B |

T RSl s W A E
3 HIR g % weffertor it stravFHan
TE A 2 |

woeel # Her fer B @ |

e § A ® frfea e A
WA R |

(b)

(c)
(d)

frafafga 8 @ +a-a wum e A & fog
e 7 R ?

(a) U@ HAT @ B fR $HE R FES
T 25% 8 |

IE qoid: 3R 2 |

75 3iafe # Fafd & deag wdta aan 2 |
Ig IYA-gahT I & Y Fa:fhar wear
21

(b)
(c)
(d)

wiew oyl (FFeRme) wem A3 W
TS qedish 1 3 ?

(a) 2642
(b) 2643
(c) 2644

(d) 2641



106. Which one of the following statements best

107.

108.

describes graphene ?

It is a bulk material made of carbon

compounds. It has high strength but

(a)

lower electrical and thermal

conductivities.

(b) It is a two-dimensional material made of
carbon atoms. It has high strength, and
and thermal

higher electrical

conductivities.

It is a bulk material made of carbon

atoms. It has high strength but lower

(c)

electrical and thermal conductivities.

(d) It is a two-dimensional material made of
carbon compounds. It has high strength,
high

thermal conductivity.

electrical conductivity but low

Limestones are formed from :
(a)
(b)

Fossilized plants

Lime present in soil
(c)
(d)

Fossilized organic matter

Fossilized shells of corals and molluscs

Which one among the following semiconductor

materials is mostly used for the

manufacturing of semiconductor chips ?

(a) Germanium

(b) Gallium arsenide

(¢) Silicon

(d) Gallium nitride
PAMD-B-GAT
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110.

111.

(37-A)

The older aircrafts are generally stored in

deserts. This is because :

(a) deserts have lot of uninhabited free
space.

(b) the dry conditions reduce corrosion and
the hard ground does not need to be
paved.

(c) deserts have stable soil.

(d) dismantling of aircrafts is easier in

deserts.

Which one of the following statements is not

true for dark matter ?

(a) It is known to weigh nearly 25% of the

Universe.

(b)

It is completely invisible.

(e)

It appears to be associated with the

vacuum in space.

(d) It interacts with the electromagnetic
force.
The decimal equivalent of hexadecimal

number A53 is :

(a) 2642
(b) 2643
(c) 2644
(d) 2641




112. f=fafaa d @ =991 — 59 1 2's Fwdide @ 2

113.

114.

(a)
(b)
(c)
(d)

11000101
10000101
11000100
11001010

1
2 A.B=BLA

3. A.B+C)=(A.B)+(A.0C)
4. A+B.C)=(A+B).(A+0C)

39 | @ -9 e fafmg e & 2

(a) “hael 131 2

(b) “haw 1311 3

(¢ 1,234

@ 1,233

frafafgs & @ frg o gr (S Te) d,
ftm (Im32Ye) F1d (true) %, fe 3R Haw

Ife M1 faw (39ge) e (false) & 2

(a) AND
(b) NAND
(¢ NOR
(d XOR

115. f=fafga § @ 9w +& IfEr ARy

(Ffefdt shomm) <1 w1 7T R 2

(a) Ta=g TeER

(b) TARREME

(c) ST 93T

(@ &t ufsrament w1 frem i fsarea

116. F=fafas w fomm Hifsw .

PAMD-B-GAT

1. Do while

2.  Repeat until
3. Ifthen else
4. Case type

T & & P et d 7 # 2
(a) 133
(b) 13 2
(¢ 334
@ 233

117. fr=fafga § @ SR e, Froge fwen

118.

119.

120.

(38-A)

# geg Wi (39 9u) H THH AHR +
siieh % ®9 ¥ qafedrd el & 2

WEIHT (Segmentation)

TS (Paging)

THIEA (Swapping)

(a)
(b)
(c)

(d) TR (Scheduling)

1 wehe (W) giva #E & foe feafafea &
Y for foreew wia =1 v fopan Stran 8 2

(a)
(b)

system()
fork()

(c)
(d)

join()

new()

frafafea & & s, T@ sEwa F=eH 0
(Frret-ergm sitafen fireem) 727 & 2

(a) MTOS
(b)
(c)

(d)

Lynx
RTX

Linux

frafafea & @ e fer &1 3w cpu @
T A1 S T 32T h! TAfRd HA o fmm
ST 8 ?

syt aar ooft (FHH ugw o)

fa = ooft (FA St Tore)

wf sterst dsft (A s1er fireer)

S WSl (S o)

(a)
(b)
(c)
(d)



112.

Which one of the following is the 2’s
complement of —59 ? '
(a) 11000101
(b) 10000101
(¢) 11000100
(d) 11001010
113. Consider the following :
1. A+B=B+A
2.  A.B=B.A
3. A.B+C)=A.B)+(A.0)
4 A+B.C)=(A+B).(A+0)
Which of the above are commutative laws ?
(a) 1and2only
(b) 1and 3 only
¢ 1,2and 4
(d 1,2and3
114. In which one of the following logic gates, the
output is true if, and only if, both the inputs
are false ?
(a) AND
(b) NAND
(c) NOR
(d XOR
115. Which one of the following is not a task of a
utility program ?
(a) System Profiler
(b) Encryption
(¢) Data Backup
(d) Scheduling and Execution of all
processes
116. Consider the following :
i Do while
2. Repeat until
3. If then else
4, Case type
Which of the above are not repetition
structures ?
(a) land3
(b) land2
(0 3and4
(d 2and3
PAMD-B-GAT

117.

118.

119.

120.

(39-A)

Which one of the following techniques
organises the main memory of the computer

system in the form of equal sized blocks ?

(a) Segmentation
(b) Paging

(c) Swapping

(d) Scheduling

Which one of the following system calls is used

to create a new process ?

(a) system()
(b)  fork()
()  join()
(d) new()

Which one of the following is not a real-time

operating system ?

(a) MTOS
(b) Lynx
(0 RTX
(d) Linux

Which one of the following registers is used to

store data received from or sent to a CPU ?

(a) Memory Address Register
(b) Memory Buffer Register
(c) Memory Data Register
(d) Instruction Register
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